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image7.png
Factor:

(@ 3.300 (b) 8m*+28m—120

(c) -7t 63t (d) =25y* + 60y —35
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Question 4
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Solve:
(@) 4x> -17x-15=0 (b) 3y*+22y+60=-14y-48
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Question 5
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You are designing a garden for the school plot. You want
the garden to be made up of a rectangular flower bed
surrounded by a boarder of uniform width, which will be
covered with decorative stones. You have decided that the
flower bed will be 22 feet by 15 feet, and your budget will
allow for enough stone to cover 120 square feet. What
should the width of the border be?
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4.4 — Solve ax?+bx+c=0 by
Factoring
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Question 1
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Factor:
(@ 3x*-10x+8 () 6x2+x-15
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Factor:

(.x2 _25 (b) 4922 +112z+64

(c) 91 —66p+121




